MAIDSTONE BOROUGH COUNCIL

MINUTES OF THE MEETING OF MAIDSTONE BOROUGH COUNCIL HELD AT THE TOWN HALL, HIGH STREET, MAIDSTONE ON 5 MARCH 2014

<u>Present:</u> Councillor English (The Mayor) and

Councillors Ash, Black, Mrs Blackmore, Brindle, Butler, Chittenden, Collins, Cox, Cuming, Daley, Garland, Mrs Gibson, Mrs Gooch, Greer, Mrs Grigg, Harwood, Hogg, Hotson, Mrs Joy, Lusty, Mrs Mannering, McKay, McLoughlin, Moriarty, B Mortimer, D Mortimer, Moss, Munford, Naghi, Nelson-Gracie, Newton, Parvin,

Mrs Parvin, Paterson, Pickett, Mrs Ring, Mrs Robertson, Ross, Springett, Mrs Stockell, Thick, Vizzard, Warner,

J A Wilson, Mrs Wilson and Yates

103. PRAYERS

Prayers were said by the Reverend Jackie Cray of St Faith's Church, Maidstone.

104. APOLOGIES FOR ABSENCE

It was noted that apologies for absence had been received from Councillors Barned, Beerling, Burton, Mrs Hinder, Sams and De Wiggondene.

105. DISPENSATIONS

There were no applications for dispensations.

106. DISCLOSURES BY MEMBERS AND OFFICERS

The Chief Executive, on behalf of herself and all other members of staff present, disclosed an interest in the report of the Member and Employment and Development Panel relating to the Pay Policy Statement.

107. DISCLOSURES OF LOBBYING

There were no disclosures of lobbying.

108. EXEMPT ITEMS

RESOLVED: That the items on the agenda be taken in public as proposed.

109. MINUTES OF THE MEETING OF THE BOROUGH COUNCIL HELD ON 11 DECEMBER 2013

RESOLVED: That the Minutes of the meeting of the Borough Council held on 11 December 2013 be approved as a correct record and signed.

110. MAYOR'S ANNOUNCEMENTS

The Mayor announced that:

- It was with sadness that he had to inform Members of the death of Councillor Colin Bothwell, the Deputy Mayor of Tunbridge Wells, following a long illness. He had sent letters of condolence to the Mayor of Tunbridge Wells and Councillor Bothwell's family.
- On a much happier note, he wished to congratulate Councillors Daphne and Peter Parvin who would be celebrating their eightieth birthdays and their sixtieth wedding anniversary this year.
- The Head of Finance and Resources and the Property and Procurement Manager would appreciate Members' feedback on the proposed changes to the layout of the foyer at the Town Hall.
- The Overview and Scrutiny Team was seeking feedback on the effectiveness of the new enhanced scrutiny model with four Overview and Scrutiny Committees aligned to the Cabinet portfolios and an emphasis on both pre- and post decision scrutiny, and a questionnaire had been circulated.
- He would like to thank Members for their continued support and to encourage them to attend forthcoming events.
- He was supporting a new initiative between the Diocese of Canterbury and the Kent Savers' Credit Union, the aim of which was to enable more people to access local, ethical and affordable financial services.

111. PETITIONS

There were no petitions.

112. QUESTION AND ANSWER SESSION FOR MEMBERS OF THE PUBLIC

Mr Fergus Wilson asked the following question of the Leader of the Council:

Is Maidstone Borough Council still committed to agriculture within the Borough and if so how does it intend to achieve it?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, and Councillor Mrs Gooch, the Leader of the Independent Group, then responded to the question.

Mr Wilson asked the following supplementary question of the Leader of the Council:

Does the Council believe that 19,000 houses are required and what effect will the proposed 19,000 houses have on agricultural opportunities in Maidstone Borough and is there a danger of Maidstone's rural area disappearing into a sea of houses with the resulting loss of agricultural land forever?

The Leader of the Council responded to the question.

Councillor Mrs Wilson, the Leader of the Opposition, and Councillor Mrs Gooch, the Leader of the Independent Group, then responded to the question.

113. QUESTIONS FROM MEMBERS OF THE COUNCIL

Question to the Cabinet Member for Community and Leisure Services

Councillor Newton asked the following question of the Cabinet Member for Community and Leisure Services:

It is good to see from the budget that additional resources are being made available to help the homeless and vulnerable in the Borough of Maidstone. Can the Leader confirm how many homeless and vulnerable people, including "street sleepers", reside within our Borough and how many are British Nationals and how many are Foreign Nationals and how they can be helped?

The Cabinet Member for Community and Leisure Services responded to the question.

Question to the Vice-Chairman of the Licensing Act 2003 Committee

Councillor Vizzard asked the following question of the Vice-Chairman of the Licensing Act 2003 Committee in the absence of the Chairman of the Committee:

During my time volunteering on the Urban Blue Bus on 30 November, I was advised that one of the clubs in Maidstone had oversold tickets for a "Ticket Only" event by 600. This resulted in the footpath in the High Street being barricaded off so that they could "manage" the crowd who were waiting to get in. This was done without any authority. The Police wanted to close down the club but felt it more prudent to manage the situation so that a riot was avoided. I witnessed the volume of people standing outside that were waiting to gain access to the club. This was at least 2.00 a.m.

On the evening of the 14 December, another of the clubs had a situation where a fight broke out and spilled out into Bank Street. On this occasion 10 arrests were made.

At the New Year celebrations, yet another club closed its doors after a fight broke out in the premises. They evicted all of the customers at 2.00 a.m. On 11 January a similar incident occurred. Again the club closed at 2.00 a.m.

I have personal knowledge of these events which occurred when I was volunteering. The question I would ask is:

Is it not time that the Council reviewed the process of revoking the licences of these premises if they break the terms of the licence and cannot control the clientele?

The Vice-Chairman of the Licensing Act 2003 Committee responded to the question.

Question to the Cabinet Member for Community and Leisure Services

Councillor Vizzard asked the following question of the Cabinet Member for Community and Leisure Services:

Perhaps the whole question of the Night Time Economy should be reviewed?

The Cabinet Member for Community and Leisure Services responded to the question.

Councillor Vizzard asked the following supplementary question of the Cabinet Member for Community and Leisure Services:

Having regard to the issues I have raised, does the Cabinet Member agree that this is not the image we wish to promote of the County Town, and does he agree that these issues should be addressed by all Members?

The Cabinet Member for Community and Leisure Services responded to the question.

To listen to the responses to these questions, please follow this link:

http://cdn.unique-media.tv/mbc236/interface#

114. <u>CURRENT ISSUES - REPORT OF THE LEADER OF THE COUNCIL,</u>
<u>RESPONSE OF THE GROUP LEADERS AND QUESTIONS FROM COUNCIL MEMBERS</u>

The Leader of the Council submitted his report on current issues.

After the Leader of the Council had submitted his report, Councillor Mrs Wilson, the Leader of the Opposition, and Councillor Mrs Gooch, the Leader of the Independent Group, responded to the issues raised.

A number of Members then asked questions of the Leader of the Council and the Leader of the Opposition, but some of these questions were ruled out by the Mayor as they did not relate to issues raised in the speeches.

115. <u>REPORT OF THE CABINET HELD ON 12 FEBRUARY 2014 - STRATEGIC</u> PLAN REFRESH 2014-15

It was moved by Councillor Moss, seconded by Councillor Garland, that the recommendations of the Cabinet relating to the refreshed Strategic Plan 2014-15 be approved.

RESOLVED:

- 1. That the refreshed Strategic Plan 2014-15, attached as Appendix A to the report of the Cabinet, be approved.
- 2. That delegated authority be given to the Chief Executive, in consultation with the Leader of the Council, to make minor amendments to the document as required.

116. REPORT OF THE CABINET HELD ON 12 FEBRUARY 2014 - BUDGET STRATEGY 2014/15 ONWARDS

Before calling upon Councillor Garland to move the recommendations of the Cabinet relating to the Budget Strategy 2014/15 onwards, the Mayor reminded Members that, in accordance with Council Procedure Rule 16.4, each Group Leader could speak for up to ten minutes when moving his/her Group's budget proposals.

It was moved by Councillor Garland, seconded by Councillor J A Wilson, that the recommendations of the Cabinet relating to the Budget Strategy 2014/15 onwards be approved.

Councillor Mrs Wilson, the Leader of the Opposition, stated that whilst her Group supported a Council Tax increase of 1.99%, she did not believe that they would support the budget as a whole.

As a consequence of the Local Authorities (Standing Orders) (England) (Amendment) Regulations 2014, which came into force on 25 February 2014, a named vote was taken on the motion as follows:

FOR (27)

Councillors Ash, Black, Mrs Blackmore, Brindle, Butler, Collins, Cuming, Garland, Mrs Gibson, Mrs Gooch, Greer, Hogg, Hotson, Lusty, McLoughlin, Moss, Nelson-Gracie, Newton, Mrs Parvin, Parvin, Mrs Ring, Ross, Springett, Mrs Stockell, Thick, J A Wilson and Yates

AGAINST (19)

Councillors Chittenden, Cox, Daley, Mrs Grigg, Harwood, Mrs Joy, Mrs Mannering, McKay, Moriarty, B Mortimer, D Mortimer, Munford, Naghi, Paterson, Pickett, Mrs Robertson, Vizzard, Warner and Mrs Wilson

ABSTAINED (1)

Councillor English (The Mayor)

MOTION CARRIED

RESOLVED:

- 1. That the revised revenue estimates for 2013/14, as set out in Appendix A to the report of the Cabinet (circulated separately), be agreed.
- 2. That the minimum level of General Fund Balances be set at £2m for 2014/15.
- 3. That the proposed Council Tax of £231.12 at Band D for 2014/15 be agreed.
- 4. That a premium of 50% to the Council Tax charge be introduced on 1st April 2014 for properties that have been empty and unfurnished for two years. This to include periods prior to 1st April 2014 but not payable on charges prior to 1st April 2014.
- 5. That the revenue estimates for 2014/15 incorporating the growth and savings items, as set out in Appendix A to the report of the Cabinet, be agreed.
- 6. That the Statement of Reserves and Balances, as set out in Appendix A to the report of the Cabinet, be agreed.
- 7. That the Capital Programme, as set out in Appendix A to the report of the Cabinet, be agreed.
- 8. That the funding of the Capital Programme, as set out in Appendix A to the report of the Cabinet, be agreed.
- 9. That the Medium Term Financial Strategy, as set out in Appendix A to the report of the Cabinet, be agreed.
- 10. That the Medium Term Financial Projection, as set out in Appendix A to the report of the Cabinet, be endorsed as the basis for future financial planning.
- 11. That it be noted that the Council's Council Tax Base for the year 2014/15 has been calculated as 55675.1 in accordance with Regulation 3 of the Local Authorities (Calculation of Council Tax

Base) Regulations 1992.

- 12. That it be noted that in accordance with Government guidance the yield from business rates has been calculated as £54,171,300.
- 13. That it be noted that, as detailed in Appendix B, the Council Tax Base for each of the Parish Areas, calculated in accordance with Regulation 6 of the Regulations, are the amounts of the Council Tax Base for the year for dwellings in those parts of its area to which a special item relates (Parish precepts).
- 14. That the distribution of Local Council Tax Support funding to Parish Councils, as set out in Appendix C, be approved.
- 15. That the Council Tax requirement for the Council's own purposes for 2014/15 (excluding Parish precepts) is £12,867,601.
- 16. That the following amounts now be calculated by the Council for the year 2014/15 in accordance with Sections 31A, 31B and 34-36 of the Local Government Finance Act 1992 as amended by the Localism Act 2011:
 - (a) £83,406,934 being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(2) of the Act taking into account all precepts issued to it by Parish Councils.
 - (b) £69,251,582 being the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the Act.
 - (c) £14,155,352 being the amount by which the aggregate at 16(a) above exceeds the aggregate at 16(b) above, calculated by the Council, in accordance with Section 31A(4) of the Act, as its Council Tax requirement for the year. (Item R in the formula in Section 31A(4) of the Act).
 - (d) £254.25 being the amount at 16(c) above (Item R), all divided by the figure stated at 11 above (Item T in the formula in Section 31A(4) of the Act), calculated by the Council, in accordance with Section 31B(1) of the Act, as the basic amount of its Council Tax for the year (including Parish precepts).
 - (e) £1,287,752 being the aggregate amount of all special items (Parish precepts) referred to in Section 34(1) of the Act (as per the attached Appendix B).

- (f) £231.12 being the amount at 16(d) above less the result given by dividing the amount at 16(e) above by the Tax Base given in 11 above, calculated by the Council, in accordance with Section 34(2) of the Act, as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which no Parish precept relates.
- 17. That it be noted that for the year 2014/15 Kent County Council, the Kent Police and Crime Commissioner and the Kent and Medway Fire and Rescue Authority have stated the following amounts in precepts issued to the Council, in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of dwellings shown below:-

| <u>Valuation</u> <u>Bands</u> | <u>KCC</u> <u>£</u> | <u>KPCC</u> <u>£</u> | KMFRA <u>£</u> | |
|----------------------------------|------------------------|-------------------------|-------------------|--|
| Α | 712.44 | 96.19 | 46.20 | |
| В | 831.18 | 112.22 | 53.90 | |
| С | 949.92 | 128.25 | 61.60 | |
| D | 1,068.66 | 144.28 | 69.30 | |
| Е | 1,306.14 | 176.34 | 84.70 | |
| F | 1,543.62 | 208.40 | 100.10 | |
| G | 1,781.10 | 240.47 | 115.50 | |
| H | 2,137.32 | 288.56 | 138.60 | |

18. That, having calculated the aggregate in each case of the amounts at 16 (d), and 17 above, the Council, in accordance with Section 30 (2) of the Local Government Finance Act 1992, hereby sets out in Appendix D, the amounts of Council Tax for the year 2014/15 for each of the categories of dwellings shown.

<u>Note</u>: Following consideration of this report, there was a short adjournment of the meeting (8.13 p.m. to 8.20 p.m.).

117. REPORT OF THE CABINET HELD ON 12 FEBRUARY 2014 - TREASURY MANAGEMENT STRATEGY 2014/15

It was moved by Councillor Garland, seconded by Councillor Nelson-Gracie, that the recommendations of the Cabinet relating to the Treasury Management Strategy 2014/15 be approved.

RESOLVED:

1. That the Treasury Management Strategy 2014/15, as set out in the report of the Cabinet, be adopted.

2. That a review be undertaken at mid-year of the use of foreign banks for last resort, short term investments.

118. REPORT OF THE MEMBER AND EMPLOYMENT AND DEVELOPMENT PANEL HELD ON 21 JANUARY 2014 - PAY POLICY STATEMENT

It was moved by Councillor Lusty, seconded by Councillor Black, that the recommendations of the Member and Employment and Development Panel relating to the Pay Policy Statement be approved.

RESOLVED:

- 1. That the Pay Policy Statement, attached as Appendix B to the report of the Member and Employment and Development Panel, be approved for publication on the Council's website after 31 March 2014.
- 2. That the Chief Executive be given delegated authority to update the Pay Policy Statement with the pay figures at the end of the financial year, prior to publication.

119. NOTICE OF MOTION - OFFICER RESPONSE TO FLOODING

It was moved by Councillor Mrs Ring, seconded by Councillor Cox, and:

RESOLVED: That this Council places on record its recognition and appreciation of the hard work and dedication of staff during the flooding which has affected the Borough and its residents over the last few months. Many staff have been involved, working long hours on providing rest centre care, arranging temporary accommodation, keeping the public informed, answering and responding to 24 hour telephone enquiries, being out and about in the community to help those in need, and much more.

120. REPORT OF THE HEAD OF POLICY AND COMMUNICATIONS - NON-ATTENDANCE AT COUNCIL MEETINGS

It was moved by the Mayor, seconded by Councillor Hotson, that the recommendations contained in the report of the Head of Policy and Communications relating to the absence from Council meetings of Councillor Beerling be approved.

RESOLVED:

- 1. That the reason of ill-health for non-attendance at Council meetings by Councillor Beerling be approved.
- 2. That the approval of the reason for absence be reviewed at the Annual Meeting of the Council scheduled to be held on 7 June 2014.

121. REPORT OF THE HEAD OF POLICY AND COMMUNICATIONS - COMMITTEE MEMBERSHIP

It was moved by the Mayor, seconded by Councillor Hotson, that the recommendation contained in the report of the Head of Policy and Communications relating to the membership of Committees be approved.

RESOLVED: That the following changes be approved to reflect the wishes of the Leader of the Conservative Group:

Licensing Committee/Licensing Act 2003 Committee

Substitute Members

Delete Councillor Black. Insert Councillor Ross.

122. APPOINTMENT OF MAYOR SELECT 2014/15

It was moved by Councillor Garland, seconded by Councillor B Mortimer, supported by Councillor Mrs Gooch and:

RESOLVED: That Councillor Richard Thick be appointed as Mayor Select for the Municipal Year 2014/15.

123. APPOINTMENT OF DEPUTY MAYOR SELECT 2014/15

It was moved by Councillor Mrs Gooch, seconded by Councillor Chittenden, supported by Councillor Nelson-Gracie and:

RESOLVED: That Councillor Daniel Moriarty be appointed as Deputy Mayor Select for the Municipal Year 2014/15.

124. <u>DURATION OF MEETING</u>

6.30 p.m. to 8.50 p.m.

MAIDSTONE BOROUGH COUNCIL

COUNCIL TAX 2014/2015

Schedule of Council Tax Base and Additional Basic Amounts of

Council Tax in parts of the area with Parish Precepts

| | TAX | PRECEPT | BAND 'D' | |
|------------------------|----------|--------------|----------|--|
| PARISH | BASE | | TAX | |
| | | £ | £ | |
| Barming | 713.40 | 23,500.00 | 32.94 | |
| Bearsted | 3,502.40 | 95,000.00 | 27.12 | |
| Boughton Malherbe | 215.10 | 5,067.76 | 23.56 | |
| Boughton Monchelsea | 1,227.30 | 50,000.00 | 40.74 | |
| Boxley | 3,758.90 | 91,506.00 | 24.34 | |
| Bredhurst | 166.60 | 8,635.20 | 51.83 | |
| Broomfield & Kingswood | 692.90 | 55,500.00 | 80.10 | |
| Chart Sutton | 393.70 | 20,000.00 | 50.80 | |
| Collier Street | 344.50 | 13,030.00 | 37.82 | |
| Coxheath | 1,436.30 | 59,000.00 | 41.08 | |
| Detling | 350.10 | 19,801.00 | 56.56 | |
| Downswood | 811.30 | 24,371.00 | 30.04 | |
| East Sutton | 136.80 | 6,000.00 | 43.86 | |
| Farleigh East | 638.80 | 30,311.00 | 47.45 | |
| Farleigh West | 210.40 | 13,750.00 | 65.35 | |
| Harrietsham | 847.60 | 43,782.00 | 51.65 | |
| Headcorn | 1,446.90 | 93,938.00 | 64.92 | |
| Hollingbourne | 416.80 | 15,067.00 | 36.15 | |
| Hunton | 297.70 | 17,000.00 | 57.10 | |
| Langley | 473.10 | 16,596.35 | 35.08 | |
| Leeds | 312.60 | 26,288.00 | 84.09 | |
| Lenham | 1,339.40 | 54,768.07 | 40.89 | |
| Linton | 241.10 | 10,638.00 | 44.12 | |
| Loose | 1,078.80 | 59,356.00 | 55.02 | |
| Marden | 1,458.50 | 76,928.00 | 52.74 | |
| Nettlestead | 296.50 | 13,449.00 | 45.36 | |
| Otham | 207.60 | 8,279.00 | 39.88 | |
| Staplehurst | 2,216.10 | 121,720.00 | 54.93 | |
| Stockbury | 300.90 | 11,885.00 | 39.50 | |
| Sutton Valence | 632.10 | 29,995.00 | 47.45 | |
| Teston | 301.90 | 20,350.00 | 67.41 | |
| Thurnham | 527.50 | 15,869.00 | 30.08 | |
| Tovil | 1,145.80 | 66,340.00 | 57.90 | |
| Ulcombe | 379.60 | 18,032.00 | 47.50 | |
| Yalding | 920.60 | 52,000.00 | 56.48 | |
| | | | | |
| | | 1,287,752.38 | | |

COUNCIL TAX 2014/2015

Parish Funding for Local Council Tax support Scheme

| | LCTS | Proposed | | | |
|---------------------|-------------|----------|---------------|----------|--|
| | Discount in | | needing grant | | |
| Parish | Tax Base | Band D £ | aid | 2014/15 | |
| Barming | -31.90 | 28.15 | -897.99 | 902.00 | |
| Bearsted | -172.30 | 25.80 | -4445.34 | 4463.00 | |
| Bicknor | -5.30 | | 0.00 | 0.00 | |
| Boughton Malherbe | -12.90 | 23.56 | -303.92 | 305.00 | |
| Boughton Monchelsea | -79.40 | 36.37 | -2887.78 | 2899.00 | |
| Boxley | -131.50 | 25.94 | -3411.11 | 3425.00 | |
| Bredhurst | -14.80 | 49.45 | -731.86 | 735.00 | |
| Broomfield | -38.90 | 66.23 | -2576.35 | 2587.00 | |
| Chart Sutton | -34.60 | 48.79 | -1688.13 | 1695.00 | |
| Collier Street | -12.90 | 29.14 | -375.91 | 377.00 | |
| Coxheath | -156.40 | 37.54 | -5871.26 | 5895.00 | |
| Detling | -33.60 | 56.48 | -1897.73 | 1905.00 | |
| Downswood | -55.90 | 29.02 | -1622.22 | 1629.00 | |
| East Sutton | -2.60 | 38.64 | -100.46 | 101.00 | |
| Farleigh East | -59.10 | 43.31 | -2559.62 | 2570.00 | |
| Farleigh West | -16.20 | 63.45 | -1027.89 | 1032.00 | |
| Frinsted | -2.90 | | 0.00 | 0.00 | |
| Harrietsham | -83.20 | 33.76 | -2808.83 | 2820.00 | |
| Headcorn | -131.00 | 55.56 | -7278.36 | 7308.00 | |
| Hollingbourne | -36.80 | 35.25 | -1297.20 | 1302.00 | |
| Hucking | -2.30 | | 0.00 | 0.00 | |
| Hunton | -18.60 | 56.84 | -1057.22 | 1061.00 | |
| Langley | -59.20 | 35.08 | -2076.74 | 2085.00 | |
| Leeds | -44.40 | 73.02 | -3242.09 | 3255.00 | |
| Lenham | -125.40 | 40.89 | -5127.61 | 5148.00 | |
| Linton | -16.90 | 43.40 | -733.46 | 736.00 | |
| Loose | -62.70 | 52.87 | -3314.95 | 3328.00 | |
| Marden | -168.40 | 52.37 | -8819.11 | 8854.00 | |
| Nettlestead | -55.10 | 38.26 | -2108.13 | 2117.00 | |
| Otham | -20.30 | 35.38 | -718.21 | 721.00 | |
| Otterden | -1.90 | | 0.00 | 0.00 | |
| Staplehurst | -152.20 | 44.80 | -6818.56 | 6846.00 | |
| Stockbury | -32.00 | 39.21 | -1254.72 | 1260.00 | |
| Sutton Valence | -46.40 | 42.08 | -1952.51 | 1960.00 | |
| Teston | -19.10 | 63.77 | -1218.01 | 1223.00 | |
| Thurnham | -11.70 | 28.72 | -336.02 | 337.00 | |
| Tovil | -165.60 | 56.63 | -9377.93 | 9417.00 | |
| Ulcombe | -21.10 | 42.54 | -897.59 | 901.00 | |
| Wichling | -2.00 | | 0.00 | 0.00 | |
| Wormshill | -6.20 | | 0.00 | 0.00 | |
| Yalding | -110.60 | 50.46 | -5580.88 | 5603.00 | |
| Grand Total | -2254.30 | | -96415.69 | 96802.00 | |

MAIDSTONE BOROUGH COUNCIL

COUNCIL TAX 2014/2015

Schedule of Council Tax Levels for all Bands

and all Parts of the Area including District Spending and all Precepts.

| Parish | Band A Total Rate | Band B Total Rate | Band C Total Rate | Band D Total Rate | Band E Total Rate | Band F Total Rate | Band G Total Rate | Band H Total Rate |
|------------------------|-------------------------|-------------------------|-------------------------|-------------------------|-------------------------|-------------------------|-------------------------|-------------------------|
| ransn | £ | £ | £ | £ | £ | £ | £ | £ |
| | | | | | | | | |
| Barming | 1,030.87 | 1,202.68 | 1,374.49 | 1,546.30 | 1,889.92 | 2,233.54 | 2,577.17 | 3,092.60 |
| Bearsted | 1,026.99 | 1,198.16 | 1,369.32 | 1,540.48 | 1,882.81 | 2,225.14 | 2,567.48 | 3,080.97 |
| Boughton Malherbe | 1,024.62 | 1,195.38 | 1,366.15 | 1,536.92 | 1,878.46 | 2,219.99 | 2,561.54 | 3,073.84 |
| Boughton Monchelsea | 1,036.07 | 1,208.75 | 1,381.42 | 1,554.10 | 1,899.45 | 2,244.81 | 2,590.17 | 3,108.20 |
| Boxley | 1,025.14 | 1,195.99 | 1,366.85 | 1,537.70 | 1,879.41 | 2,221.12 | 2,562.84 | 3,075.41 |
| Bredhurst | 1,043.46 | 1,217.37 | 1,391.28 | 1,565.19 | 1,913.01 | 2,260.83 | 2,608.66 | 3,130.38 |
| Broomfield & Kingswood | 1,062.31 | 1,239.36 | 1,416.41 | 1,593.46 | 1,947.56 | 2,301.66 | 2,655.77 | 3,186.92 |
| Chart Sutton | 1,042.78 | 1,216.57 | 1,390.37 | 1,564.16 | 1,911.75 | 2,259.34 | 2,606.94 | 3,128.32 |
| Collier Street | 1,034.13 | 1,206.48 | 1,378.83 | 1,551.18 | 1,895.89 | 2,240.59 | 2,585.31 | 3,102.37 |
| Coxheath | 1,036.30 | 1,209.01 | 1,381.72 | 1,554.44 | 1,899.87 | 2,245.29 | 2,590.73 | 3,108.88 |
| Detling | 1,046.62 | 1,221.05 | 1,395.48 | 1,569.92 | 1,918.79 | 2,267.66 | 2,616.53 | 3,139.84 |
| Downswood | 1,028.94 | 1,200.42 | 1,371.91 | 1,543.40 | 1,886.37 | 2,229.35 | 2,572.34 | 3,086.80 |
| East Sutton | 1,038.15 | 1,211.17 | 1,384.20 | 1,557.22 | 1,903.27 | 2,249.31 | 2,595.37 | 3,114.44 |
| Farleigh East | 1,040.54 | 1,213.97 | 1,387.39 | 1,560.81 | 1,907.65 | 2,254.50 | 2,601.35 | 3,121.62 |
| Farleigh West | 1,052.48 | 1,227.89 | 1,403.30 | 1,578.71 | 1,929.53 | 2,280.36 | 2,631.19 | 3,157.42 |
| Harrietsham | 1,043.35 | 1,217.24 | 1,391.12 | 1,565.01 | 1,912.79 | 2,260.57 | 2,608.36 | 3,130.03 |
| Headcorn | 1,052.19 | 1,227.56 | 1,402.92 | 1,578.28 | 1,929.01 | 2,279.74 | 2,630.48 | 3,156.57 |
| Hollingbourne | 1,033.01 | 1,205.18 | 1,377.34 | 1,549.51 | 1,893.84 | 2,238.18 | 2,582.52 | 3,099.02 |
| Hunton | 1,046.98 | 1,221.47 | 1,395.97 | 1,570.46 | 1,919.45 | 2,268.44 | 2,617.44 | 3,140.93 |
| Langley | 1,032.30 | 1,204.34 | 1,376.39 | 1,548.44 | 1,892.54 | 2,236.63 | 2,580.74 | 3,096.88 |
| Leeds | 1,064.97 | 1,242.47 | 1,419.96 | 1,597.45 | 1,952.44 | 2,307.43 | 2,662.43 | 3,194.91 |
| Lenham | 1,036.17 | 1,208.86 | 1,381.56 | 1,554.25 | 1,899.64 | 2,245.02 | 2,590.42 | 3,108.50 |
| Linton | 1,038.33 | 1,211.38 | 1,384.43 | 1,557.48 | 1,903.59 | 2,249.69 | 2,595.81 | 3,114.97 |
| Loose | 1,045.59 | 1,219.85 | 1,394.12 | 1,568.38 | 1,916.91 | 2,265.43 | 2,613.97 | 3,136.76 |
| Marden | 1,044.07 | 1,218.08 | 1,392.09 | 1,566.10 | 1,914.13 | 2,262.15 | 2,610.18 | 3,132.21 |
| Nettlestead | 1,039.15 | 1,212.34 | 1,385.53 | 1,558.72 | 1,905.10 | 2,251.48 | 2,597.87 | 3,117.44 |
| Otham | 1,035.50 | 1,208.08 | 1,380.66 | 1,553.24 | 1,898.40 | 2,243.56 | 2,588.74 | 3,106.48 |
| Staplehurst | 1,045.53 | 1,219.78 | 1,394.03 | 1,568.29 | 1,916.79 | 2,265.30 | 2,613.81 | 3,136.57 |
| Stockbury | 1,035.24 | 1,207.78 | 1,380.32 | 1,552.86 | 1,897.94 | 2,243.01 | 2,588.10 | 3,105.72 |
| Sutton Valence | 1,040.55 | 1,213.97 | 1,387.39 | 1,560.81 | 1,907.66 | 2,254.50 | 2,601.36 | 3,121.63 |
| Teston | 1,053.85 | 1,229.49 | 1,405.13 | 1,580.77 | 1,932.05 | 2,283.32 | 2,634.61 | 3,161.53 |
| Thurnham | 1,028.97 | 1,200.46 | 1,371.95 | 1,543.44 | 1,886.43 | 2,229.41 | 2,572.41 | 3,086.89 |
| Tovil | 1,047.51 | 1,222.09 | 1,396.68 | 1,571.26 | 1,920.42 | 2,269.59 | 2,618.77 | 3,142.52 |
| Ulcombe | 1,040.58 | 1,214.01 | 1,387.43 | 1,560.86 | 1,907.72 | 2,254.57 | 2,601.44 | 3,121.73 |
| Yalding | 1,046.57 | 1,220.99 | 1,395.42 | 1,569.84 | 1,918.70 | 2,267.55 | 2,616.41 | 3,139.69 |
| | | | | | | | | |
| Basic Level of Tax | 1,008.91 | 1,177.06 | 1,345.21 | 1,513.36 | 1,849.66 | 2,185.96 | 2,522.27 | 3,026.72 |